MACHA GIRLS SECONDARY SCHOOL

MIDDLE TERM TEST MATHAMATICS – Grade 11.12

NAME:______________________________________                                Date: 16.10.2009

                                                                                                                           Mr. N. Kubach

Please read first all the questions and use your posibility to ask for obscurities. After this short stage you have 180 minutes to solve all problems and to write your name on every single used sheet icluding this one. Write your solutions only on the you given paper and underline your results. Multiple calculating ways and answers can not be accepted. Everything has to be written with a pen, exept the drawings. For your work the only required equiptments are a calculator, a pen, a pencil and a ruler. Nothing else is allowed on your table! You are not permitted to talk! 

1. Solve by using the “formular-method”: 
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2. Complete the square: 
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3. Solve by “completing the square”and give the roots : 
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4. Simplify as far as possible: 

4.1 
[image: image4.wmf]2

*

)

4

5

.

0

(

2

²

*

*

2

16

2

+

+

+

y

x

x

y

x

y

                                                                                     (   /3)

4.2  
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5. Work out:

 5.1 How many roots can a quadratic equation have? ​​​​​​​​​​​______________________ (   /1)

       5.2 Make a draft drawing of your possibility/possibilities:                                  (   /1,5)

               y                                                 y                                                    y
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6. Matowe has two children. The difference of their ages is 3. The sum of their squares 

       is 17. 

6.1 Make up two equations and join them with a method of your choise to one.  (   /2)

6.2 Calculate with help of the equation in 6.1 the ages of Matowes children.

       Use the  factorisation method! (help equation: 4y² +12y=16)                      (   /4)                    

6.3 Give an answering sentence, in which you discribe your conclusion!             (   /1)

7. The classroom of the 11.12 has a perimeter of 280cm and a area of 48m².       

7.1 Find length and width of the classroom, then present and explain your result in an answering sentence. (help equation: 0,5b²+24=7b).                                        (   /7)                          

7.2 If you increase the classroom in length and breadth in the same amount, the area would become 80 cm². How big must the increase be in this case? Don’t forget the answering sentence! (helping result from 7.1: length: 18m; breadth: 2m) (   /6)

8. The points A (-1,-1) and B (1,3) are given.

8.1 If A is in line with B and the line is representing a linear function of the form f(x)=m*
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+n, how is this function called? (help equation:
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8.2 At which point does the line intersect the y-ordinate?                                  (   /1)

8.3 At which point does the line intersect the 
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-ordinate?                                 (   /1)

9. The function 
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 is given to you.

9.1 Calculate the points of the graph for 
[image: image13.wmf]x

=-1 and 
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=2.                                   (   /2)

9.2 Calculate the roots for this function.                                                             (   /3)

9.3 Draw a coordinate-system and insert the calculated points from 9.1 and 9.2 in it. Put a circle around those points!                                                                    (   /2)

9.4 Insert all the points from the chart below and draw the graph with the 

      domain  –3,5(
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(4,5.                                                                                     (   /3)

9.5 Find the line of symmetry, draw it in the diagramm and write 

      down its equation.                                                                                         (   /1,5)

9.6 Find the intersection point of this graph and the one you calculated in 8.1.   (   /2)

	X
	-3,5
	-3
	-2
	-1
	0
	0,5
	1
	2
	3
	4
	4,5

	Y
	4,9
	3
	0
	
	-3
	-3,13
	-3
	
	0
	3
	4,9


10. BONUS QUESTION: 

       Mr. Kubach wants to punish Chipego and requests her to add all numbers from 1 to

       1000. Chipego has the answer in 10 seconds? What is her answer and how did she 

       do it?                                                                                                                 (    /+2)

                                                                                                              TOTAL(    /56 Points)

CONCENTRATE, DON’T CHEAT, TAKE A DEAP BREATH AND ( 

MUCH SUCCESS!!!
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